


he quotient and remainder

2 - 9¢







3. Which number sentence equal to 3

rows of 52
a. 3 +5= 8
b. 3 x 5= 15
c. 5 -3= 2

d 5+ 5=10




reatest value ¢

=/




5. An octopus has tentacles. There
are octopuses in the tank. How

many tentacles are there in the tank?

a. 16 tentacles b. 80 tentacles

c. 40 tentacles d. 8 ftentacles




6. There are dancers arranged

evenly in rows. How many dancers

are there in each row?










9. Ho

s do we get, if we

fens

10 tens




ion facts.




ANSWER KEY




THANK YOU
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